
Spiel 1 Spiel 2 Gesamt

Spiel 132 17:59 I 5 UNTERSTEINER Johann 53 + 52 = 105 O

J 5 HIESL Christoph 51 + 60 = 111 #

Spiel 133 18:08 I 4 RUMETSHOFER Martin 47 + 51 = 98

J 4 GÜNTHER Reinhard 54 + 72 = 126 # # #

Spiel 134 18:16 I 3 DOMANI Manfred 55 + 56 = 111 # # O

J 3 SEIBERT Günter 63 + 57 = 120 O O

Spiel 135 18:25 I 2 KÜLLINGER Andreas 50 + 55 = 105 O #

J 2 FRÖSCHL Max 58 + 63 = 121 # # O

Spiel 136 18:33 I 1 ACHLEITNER Christian 68 + 54 = 122 #

J 1 ÖLLERMEIER Fritz 54 + 58 = 112 # #


